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Q.1 hoose the '1 an 'Wn\nim ne given options:
) Rickets develo s ncy ot vitamin
() (c) @D

(i) tght due o
(&¥Respiration (b) Pholosynlhesm
(c) Transpiration  (d) None of these

(i) Colourless, nucleated, irregular cells are

(a) R.B.Cs (b) Plateliets  (c) Hypothesis (d) Law
(v} Theintelligent guess of a scientist in the form of statement is called:
(a) Deduction (b) Theory () Hypothesis (d) Law

(v} Nucleus of cell was discovered by:

(a) Robert Hooke (b} Schleiden (c) Robert Brown () Virchow
(vi)  The family of mustard is;

(a) Brassicaceae  (b) Poaeceae (c) Rosaceae (cl) Palmaceae
(vil)  Charaoteristic of viruses due to which they are considered as Iiv

(a) Noncellular structure  (b) Total parasite

(¢) Underga Crystallization  (d) Undt.30 repr
M—dﬁﬁ ahana  (d) Vertebrates

(viil)  The flame cell system is found |
nskelemn [c) Hydrostatic (d) None of these

(@) Cockroach (b

(x)  Skeleton in earth
(a) Exoskel x ) nd
§Eana

t’ a part of neuron,

(b) Sclera (c) Axon (d) Dendrite
(x)  Fruitis ripened,

(a) Ovule (b) Quary (c) Flower  (d) Carpel
(xi)  Nucleicacidisa .

(a) Polynucleotide  (b) DNA (c) RNA (d) Nucleotide
(xi)  Crocodile isa

(a) Herbivore (b) Camivore (¢) Omnivare (d) Detrivore
(Xv)  The chracteristic not associated with Fung)

(a) Non-chlorophyllous (b) Coenocytic

(c) True cellulose (d) None of these
(xv)  Typical flower are present in the group of spermataphyte,

(a) Gymnosperm (b)Angoisoperm  (c) Pteropisda

(c) All of them
(xvi) Echinodermateshave ___ skin.

(a) Spiny (b) Soft (c) Hard (d) None of these
(xvil) 15 gill breather.

(a) Frog (b) Fish (c) Whale  (d) Turtle
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